Efficiency vs P,

~ 0.8

o
~
RN

.................................................

eficiency vs p
o
()]
TT I TTT

o
[$3]
TTTTTT

o O
w
[
0
[
g
.
.
e -
—H—
i g

o e
00 L0 g, olf

DUV OTTIOITal STE] ((Oar-prrast L=-TTewgeoTIT

D M:mf(%lt_sTe ftrgar- ﬁjasel-new e%m

D Mj@nqle step2_ttbar-phasel-newgeom

DQM™ assréteg ttbar-phasel-| wrg ﬁm
DOM—pixerCP| neric_step2_ttbar-phasel-newgeom

i

o
o3

o
~
T TrrT

efficiency vs n

o o o

B Q1 [¢))
I I I

b .
e .
— :
= .
— H
—t .
—— H

e .
—— :
= :

e "
————
—e— N
= : :
e—i— .

B Tt CECTET
e — =AM
.
e e :

o« ¢ (
w
LB LA R TTT]TT

o1

Ratio
» O |
! LI ! T _IIII T
i ———
——




	Contents
	Page 1


